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1- Circle the correct answer. (15x1=15) -uﬂﬁu’l»f Loizern -1
1. The solution set of the equation z? + 2z — 2 = 0 is: —cer e 22 -2 = 0 bl 1
{-1+v=3} () {1+v=3} © {1=v3} ® {-1+v3} ®
2. Standard form of quadratic equation: e FSdmlablr B 2
az? =bz,a #0 (D)aa?+ bz +c=0,a#0 (C) be+c=0b7#0 () az’ =0,a #0 (A)
3. If w= 71+T\/7_3 then w? =? W =ww = 7H2‘/Tg/fl 3
S EEN() v} (0) LYV (B S REER0Y
4. In proportion,a+3:7+a::4:5 a="7 a=7Ua+3:T+a:4:5A 4
A ATE0) 13 (O 38 (B) 2!
5. Afraction in which the degree of nominator is greater O T A . oI ol b F it il eSS D
or equal of denominator is called:
None %14 (D) Equation i (C) Improper /_si, # (B) Proper /_i; (A)
6. If A={0,2,4} and B ={-1,3} then B x B =? BxB=2nB—{-1,3}s4~{0,2,4}1 -0
{(=1,0),(-1,2),(~1,4),(3,0),(3,2), (3,4)} (g) {(-1,-1),(-1,3),(3,-1),(3,3)} (a)
None of these (D)  {(0;—1),(2,—1),(4,-1),(0,3),(2,3),(4,3)} (¢
7. The Range of Ris, if R = {(1,3),(2,2),(3,1), (4,4)}: :4_@,4 RangeJR]yzR ={(1,3),(2,2),(3,1), (4,4)}jl 7
{1,3,4} p) {1,2,3,4} {3,2,4} () {1,2,4} (p
8. Foragiven data, X =? X=tdlwde, 8
% (D) X0 Zx-X) (B) =X (a)
9. For the [ = 76, 6" is given'in _ units. , i%ﬁey-‘;z’w‘éf—g}wl —0 9
None ‘{4 (D) Meter 2 (C) Radian %, (B) Degree ¢35 (A)
10.  The angle greater than 90° is known as ___ . S sieyegoe 10
all e (D) acute angle 2 (C) obtuse angle iz (B) right angle 146 (A)
11. The greatest chord of the circle isits ____. cetn_ Kl e -l
Arc i (D) Diameter Q) Radius s1,, (B) Tangent i (A)
12. Measure angle 60° and 120° are called: -ujLMlQO”mb’O"%;U 12
Supplementary 4,5 <% (B) Complementary %,;;d;‘:‘;f (A)
Acute angles it (D) Right angles o_,i;_#5 (C)
13. The angle subtended at the centre of a circle between ‘ujjj,/%,uLu,Z,uy;;Luy!;/;;4f/£¢_}|,5( 13

two radii of circle is called ____.
Right angle 1,;];?9” (D) Quadrant angle G (C) Central angle :"Jd'// (B) Incribed angle 1,1;1/ (A)
14.  The measure of a central angle of minor arc of a circle is _LLm_K,,u‘uﬂféa/fg}:ab”»,,ud)’/K,/j”g}u:;/’u@/ 14
__ that of the angle substended by corresponding
major arc.
Triple (7. (D) Double (75 (C) Equal i, (B) Half o (A)
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15.  Geometry is the study of: eSS F2 15
Sine of figure > (¥ (B) Shape of figure ... § f* (A)
All of them i, D) Position of figure =L (O)
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2- Answer any 6 short questions. (6x2=12) .é@&lﬁﬁﬁ.:«ﬂer:_é:" 2

i Solve z% — 2 — 20 = 0 by factorization.

ii.  Solve the equation z* — 13z% + 36 = 0

iii.  Find cube roots of -1.

iv.  Without solving find the sum and product of roots of

following quadratic equation.

v. Solve the simultaneous equations:

S SSE it~ —20=0

SISt 1322 436 =0 Al

Al Al
,J"/'/()J"”g/J’la/surfﬁf‘uéfﬂfobl/d./u:éfu’} Av

22 -5z +3=0
SIS I s Y

22+ (y— 1) =10;22 +y  +4z =1

Vi.  Ifa:b=c:dthen prove that

J/ﬁé&:f‘?ﬁa:b:c:d/l vi

3a+2b _ 3ct2d
3a—2b 3e—2d
vil.  Find mean proportional of 16 and 49. SR 3896490116 vii
vili.  Resolve into partial fraction u _Q/Jfguﬁu;/d:i Vi
ix. Resolve it into partial fraction _J“/J.'};J//dji ix
3- Answer any 6 short questions. (6x2=12) ,é’,;,wg /"f L,;,m,«(sg‘j,f -3
i What is complement of a set? ?LQ»/QJ/:.:{JJK@: .
ii. Find the domain and range sets q/r}l’)bhfé//ﬂ&{w}; i
R ={(a,b),(b,a),(c,d), (d,e)}
iii.  Find the mode. SR
6,4,4,5,5,6,6,6,7,7,5,7,5,8,8,8,6,5,6,5,7
iv.  What is Variance? Write its formula for the ungrouped _ﬂurjggu,éi,,,d,j/j‘;%gqg v
data.
v. Locate: J Enlusidios YV
(@) —45° (b) 120°
Vi, Prove that Sy M
5in’0 = sin 6 — sin 6 cos>d
Vii.  |nan lsosceles AABC, if mAB = mAC and BE | AC, /w35 BE | ACsmAB = mACSIUAAABCAISLE Vil
then prove that (BC)? = 2mAC. mCE (BC)? = 2mAC. mCES
viil. Ina triangle ABC, mBC = 2lem,mAC = 17cm, {,B_C’;ﬁmA_C = 17em»ImAB = 10ecm:mBC = 2lem~AABC Vi
mAB = 10em. Measure the length of projection of AC vqfl”h"JUJAfCJ:y
upon BC.
iX.  |f length of ABis 8 cm and radius of circle is 5 cm then ,u:/(}”,ln&;}(/g;;;n(’SJI:/KL//bum(&;UJ/«JE/l Aix
find the distance of chord to center.
4- Answer any 6 short questions. (6x2=12) -éb"«b'ﬁ 4 Lgmyﬁéé,f -4
i Define Radial Segment. e LB A
. How many tangents are drawn from any pointoutofa  tU A UL st E 2V E L e B8 p Lo ng”
circle? What is the relation between their lengths? ) ygﬁ‘jﬂ/
iii.  |n the given figure find the semi circular area. If i

mOA = 20cm and 7 = 3.14

7 = 3.143mOA = 20 cm/f!-d_./()’”ﬁzgg//l:ﬂuﬁf&%;

£
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iv. . An 8 cm long chord substends a central angle of 60°. ?Jn(}f&,}JJD/;?W:)!JJ?//6O“uﬁg/b/”;H(SVg v
Find its radius.

v. The length of the chord and radial segment of a circle ?K,qy”,,ugf/w,&:.];_uj/.l4uggljufl;//;!},u:;}|,.,_(r v
are equal, what will be the central angle made by the
chord?

Vi, Define a circum angle. -q/.ny,,lja/V i

vii.  Define cyclic quadrillateral. e e B Y

viii. Divide an arc of any length into three equal parts. <‘j“/(“j‘j:u,474;/‘uf[g}uféy‘f( viii

ix.  Define tangent of a circle. S bnl/UWE ) ix

(Part - 11 - r:;.«a?)
Attempt any THREE questions. But question No.9 (3x8=24) -« 419 /J'yg‘?_z_-{&wé.:.uwe)d =4
5(a) Solve the equation. ~E S i (@5
(z+1)(z+3)(z—5)(z—T7) =192
5(b] Find the third proportional e L (B)S
(z +y)* 2° —zy — 29

6(a) Resolve into partial fractions % iizt;ij -Q/quiz/d;z (@6

6(b; IfU=1{1,2,3,...,20}, X ={1,3,7,9,15,18,20} and U=1{1,23,...,20}X = {1,3,7,9,15, 18,20}/: )6
Y ={1,3,5,...,17}, then show that SUS Y = {1,3,5,... 1T}l

X-Y=XnY

7(a) Find the standard deviation "S". _;{()V "S" i A1 (a)T

12,6,7,3,15,10,18,5

7(b; The radii of two intersecting circles are 10cm and 8cm. If uliﬁ(@uJ};J“/“'Luif!_u:z(&,!(“lOmJ/Lu;/’bd’Gu )7
the length of their common chord is 6¢cm then find the vq/(k”yﬁg}y/:(}(l/iu;;’:
distance between the centres.

8(a) Prove that equal chords of a circle (or of congruent af.;d}wuVutéLfliijjfiui'a/’u@.,ggu;/’uft:qu/.:aﬁ (a)8
circles) subtend equal angles at the centre (at the v e 3 $S L
corresponding centres).

8(b, Draw two equal circles each radius 2.4cm. If the distance Lwh(@»uuy/%ﬁ/Lgﬂfﬂ’%b.g/’ud:l/uLumufz,4 )8
between their centres is 6cm, then draw their transverse -gJVu’!é”
tangents. -

9 Prove that, the diameters of a circle bisect each other. S S o B L IS g et 9
OR The radii of a circle is v/2 cm. A chord 2cm in length _LLL"/(.T"JUL‘.';,L,b?,;/g;!;;j(&l#fzVQ_LL(\/QJ!J/KL//I;..{I L

divides the circle into two segments. Prove that the
angle of larger segment is 45°.

GO i A S S et
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